GLOBAL SHIFT MYSTERY

‘Why is Yang doing Tom’s job?’
	Tom is a skilled mechanic. He builds car engines. He is looking for a new job as he will be made redundant in two weeks. 
	Yang used to live in a small village in southern China.

	The mayor of Newcastle is annoyed Ford is leaving after 15 years there.
	The mayor of Shenzen is very happy Ford chose his city.

	Tom has worked for Ford for 6 years.
	Yang now lives in Shenzhen , an industrial city in southern China.

	Ford is a big MNC.
	There have been many spin off jobs as a result of Ford moving to Shenzen.

	Tom works an 8 hour day and makes  £500 a week
	Yang works 10 hour shifts in the factory and makes £ 50 a week

	The managing direction of Ford wishes to increase the company’s profits.
	Some of the largest MNC earn more than African countries. 

	Yang hopes to be a line manager as he finds it difficult to feed his family on the wage he receives. 
	Yang is looking forward to some time off over Christmas. His hours are long and working conditions are difficult. 

	Newcastle is in the north east of England. It is a very poor region. 
	Newcastle has benefited from an improvement in road infrastructure.

	China has 170 million cars on the road. This figure is predicted to double in the next 25 years! 
	Crime in Newcastle has increased by 15% since Ford moved away. 

	Yang has worked for Ford for nearly a year.
	Robots has increased production at the factory in Shenzhen

	Tom lives in Newcastle 10km from the Ford factory. 
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	The local newspaper “Newcastle Times” says Ford has let it down. 

	Yang has to work lots of overtime. 
	Ford is looking to open a school in Shenzhen. 

	Tom and his family will be having a quiet Christmas this year.
	Ford is not selling many cars in Europe.




